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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number, Use marker or when to fill the circles. Cutting or filling or two or
more circles will result in zero mark in that question.

( SECTION-A i)

Q.1 Questions (A) (B) (C) (D)
Least Count of Digital Vernier
iy | Calipers is: 0.1 mm 0.0l mm | 0.001 mm 1 mm
2€;§5K&fg)4€%//’513ﬂ5
| Which quantity 1s a Scalar Quantity: Time Force Torque Velocity
1) :‘LJIAE'/»L‘CJ'J&J’/ 3y JJ:’ Sk (_;/U)
| Product of Mass and Acceleration is: Inertia Torque Force Momentum
1) :‘L.:,/J'ilpgj:"/bgl/}lu’l. =5 S JJ}’ (b{y‘
| SI Unit of Weight is: Joule Meter Kilogram Newton
v) ity SIE s J# e (lf A1 Y
The Steering of a Car 1s example of: Force Net Force Couple Momentum
V) o — . s < b *
e JoE K S BN J- =t
The Formula to find the Orbital Speed ;)\ -
(Vo) of a Low Orbit Satellite is: (\,ggg‘ia\\@
0 | ot nl S der L] o= o= | Vo VB | o= (AR
NS
e U (Vo) | N\
The energy of a moving body during [\ Kinetic Nuclear | Chemical Potential
vii) motion 1s called: @&/\_O " Energy Energy Energy Energy
‘LJMJAJKU’/UU?;\@JX 8.2 O S A5y Gk &/’Uﬁ"f{
Which one of the following converts | Electric Bulb | Photo Cell Electric Electric Cell
Light Energy into Electrical Energy: Generator
Vill) | K ) S G esy A e 5o | AT L M A
MBI
In which of the following State Solid Liquid Gas Plasma
ix) Molecules do not leave their position:
2B S B S S S | U o o Lk
Boiling point of Water 1s: 08°C 2890 100°C 00°C
x) e 21y B0y
Which of the following affects | Temperature | Surface Wind All of the
| Evaporation: Area of the above
X1) Liquid
:.;;_,3::)1;1}"1¢ cﬂ;;f:gv raits S JE =7 >0 Lo ? /KéL |3 (L?du/?,u
| Which Bird i1s Thermal Climber: Sparrow Eagle Pigeon Crow
= e U S| 2 i PR '
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( SECTION-B (».ﬂ?)

2. Write short answers to any Five questions: (5x2=10) :éz“ f mglﬁﬁaﬂl/égcéf 2
Why do we need measure extremely small ?4_3? Ul 2l LU J.:G’ JL‘?' et
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intervals of Time?

Define Prefixes and give an example. SJedimst oy J§ / g i
Define Plasma Physics and Geo Physics? _ébg /7 J u/ 292 J/ 7',.»)1,}; 111
Diff@:rentia.lte. between Sliding Friction and s BN u:( 5By, JJ S Bl v
Rolling Friction? ‘
Egr\:/l fg}ﬁi}é?Force you need to prevent a Bag ¢ %/Ku : Fol df [&;T “A il d_g I ..C £ v
Write two advantages of Friction which you Ualied TR 2 19 yomae L uy’ 3
ol?served: | ) "’ )
E;ﬁfggt;tlsa;teemtzgween Natural Satellite and ) é’—f LI Sreswr 52 et 15 i
State Law of Gravitation. u@pakcnty org%o _5 oL KJ’ o’:’/ Vil
3. Write short answers to any Five questions: (5x2 =10) X Q\ éf (f ...,Lliéumrf,l.:.df 3
Define Uniform Speed. \< 6)\/ - A JMrJLw’ 1
B;g)eﬁir;t:s; ) between Distance and (./6?\,\2’“ 2V 5 SR A P
Convert 200km h™* into ms™*. ﬁg;?%t&?\w SJeor ms™ 200kmht i
Define Pressure and write its S.I umtq k\ <\:CQW b &gS.IKJu,lé -2 /7 S Ay v
Differentiate between Ships and Sgbﬁlarlnes S O S Uiun T sz 5 v
Why does a Piece of StonegSh;k in water but a dL/L"’d/ Sl L K %Wﬁ*’jtﬂﬁ}&.'% 64 Vi
ship with a huge weight floats? s bt 2y
Define Convection. _é - /7 S u:{ ¢ vii
What is Global Warming? S (ol B F i
4. Write short answers to any Five questions: (5 X 2 = 10) ) & aglﬁﬁam;’ét;@f 4
What 1s Couple? °¢_L/ J/ 1
Define Center of Gravity. ..J/ - J Sy v S5 T~ ii
g;’fif:aeln]tzigltﬁﬁgg?;én Stable Equilibrium and _ Jfrg S £Js £ JA s i fy i
Define Power and write its Unit. _J.‘.""g ISl Sy i 7\
Derive the Equilibrium of Potential Energy. ..u:/’/ ol sl d/ & )ldf"‘“ b:’ RY
Define “Joule” as Unit of Work. fg - d/ Jo o wvi
Define Latent Heat of Fusion. ..J/ - u( e 7 f J 5113{ Vil

V1il.

Define “Evaporation.” _.uf’ﬂ - 7 J wu;:. /|

Vil



( SECTION-C /) _»)
Note: Attempt any two Questions. (9x2=18) ..Qj/ S @UV»:..J[MJ

S. (a) Derive the Equation for Mass of Earth from i St e tﬁfb 5 s S ()25
Newton’s Law of Gravitation and hence ) )

calculate the value of Mass ot Earth. B _u:/l&l .:.J:L.»“i Z,L)/pl” JI
u@'pakcity.org:%c ..g_[/(pl’“':_.’a/(}liu'l.

(b) How much is the Force of Friction between a 3, S B 0L L oS £ (L)
Wooden block of mass 5kg and the Horizontal 1L sy knl S LS S :

Marble Floor? The Coefficient of Friction »6¥ 8 swuidF §F Iupnl F)

between Wood and Marble 1s 0.6. < 0.6 f//JT&wf' LE’ /U?” Larl
6. (a) Prove that : Upthrust of liquid=p gV UL =pa VI St ()6

(b) A Train starts from Rest, it moves through 1km 107, 2k e el (o, f (D)
in 100s with uniform Acceleration. What will be = 5 2 6’/ v < J /sl s

its speed at the end of 100 s? .L"LSK}K}KVQJZNOSJL«L@%)“Q(JW;{
?Jﬁgégd/qi;'gm}jloos-‘a&/&
7. (a) Define Equilibrium and explain Second S Fays d/f‘: 2 £l 25s By JF: or (D T

Condition for Equilibrium.

_iyu,
(b) A Car weighing 12 KN has speed of 20ms™*. SUie 20ms=1 Ly § 80 12KN 1 (&)
Find its Kinetic Energy. ‘ - "
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